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	��	�
���

������	� ������
�� ���	�� ��� �� !�	����	� #+��� &� ����

�
��� �	�	��� ������	���� �	���� ���	�� ��	���
��� ��	�

���	�� &� %	��
�� &&&� �	 �
�� �� 
���	�	����
�� �� 
���	

��������
�� 
� �
	 *'' ����
�� O(n
2

w + n2L
dp + n2v2

dw + n2v2l
dp )

�
�	 ��
��� %	��
�� &, �
�����	� �
	 �
�	 ���	� ����� ���


���	 ��������
�� �� �
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�
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�
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��� ��� ������	�
��� &� %	��
�� ,� �	 ��	�	�� ��


���	�	����
�� �� ����
� ����
��
���
�� 
� �
	 *'' ����
��

O( n3

mw + n3L
mdp + n3

dw + n3l
dp ) �
�	 ��
��� �	 ���� ����	 �
��

��� 
���	�	����
�� �� ����
� ����
��
���
�� 
� ���
��� 
�

%	��
�� ,&� �
������ %	��
�� ,&& ����
�	� 	��	�
�	���� �	�����

�� #	����	 #"$ "
���� %	��
�� ,&&& �������	� ��� ���-�

&&� "'�  ''� �'� �''� �(& �'� *''

"
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� ������	 �� �

� �	��
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� �	��	 �
�		 �	����
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���	�	 '	���� '��

�	 ( '')� �
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�	� '	���� '��

�	 (�'')� ��� �
	 *
	����

��� '	��

��� '��

�	 (*'')� �

�
 ������	 �
	 	��	��	 �� ������	�

������
�� �� �� !�	����	� #+���

�	 ���� �	��	 ��� �������� 	�
��� 	
����� ��		� /01�

/201 �� �
��
 w ��� ���	��� l� 3	� B[j] = {j, j+w, j+2w, j+
3w, . . .} (0 ≤ j ≤ w − 1) �	���	 � �	� �� ����	��	� ������	�

� ��� j��� 
�
��� �
��� &� ��
	� ������ 	��
 ����	�� i 
�

� �
	 (i mod w)��
 �	���� ���-� �	 �����	 �
�� ���� �
�

����	��	� 
� �
��	�	�� ���-� ��� �	 ���	��	� 
� � �
�	 ��
�� ���

�� ��� ���� 
� �
	 ���	 ���- ��� �	 ���	��	� 
� � �
�	 ��
��

!���� �	 �����	 �
�� l �
�	 ��
�� ��	 �	�	����� �� �����	�	
�� ���	�� �	4�	�� ��� ����
����� �	4�	��� ��	 ����	��	� 
�

� �
�	�
�	 ���

�� �
����
 �
	 ''� ('	���� '����	�	��

��
�)� "
��� 
� ��-	� k+ l− 1 �
�	 ��
�� �� �����	�	 �	����
���	�� �	4�	��� �� k �
��
��� ���� 
� � ����
����� ���-�

�	 �����	 �
�� p �
�	��� ��	 ����
�
��	� 
��� p
w ������

�� w �
�	��� ����	� �
���� '��	 ��	�
������� p �
�	��� T (0)�
T (1)� . . .� T (p−1) ��	 ����
�
��	� 
��� p

w �����W (0),W (1)�
. . .� W ( p

w − 1) ���
 �
�� W (i) = {T (i · w), T (i · w +
1), . . . , T ((i + 1) · w − 1)} (0 ≤ i ≤ p

w − 1)� ����� ��	
�
�����
	� ��� �	���� ���	�� 
� ����� ��� w �
�	��� 
� �

���� ��� �� ���	�� �
	 �	���� �� �
	 ���	 �
�	� &� ��
	�

������W (0),W (1), . . . ,W ( p
w−1) ��	 �
�����
	� 
� � ������

���
� ����	� 
� �� �	��� ��	 �
�	�� 
� � ���� �	4�	��� �	����

���	��� �
	� W (i) 
� �
�����
	�� w �
�	��� 
� W (i) �	��
�	���� ���	�� �	4�	���� �� ���� ��	 �	4�	�� �	� �
�	��� ��

�
	 �	����� �	 ���� �����	 �
�� � �
�	�� ������ �	�� �

�	� �	���� ���	�� �	4�	�� ���
� �
	 ��	�
��� �	���� ���	��

�	4�	�� 
� �����	�	�� *	��	� 
� � �
�	�� �	��� � �	���� ���	��

�	4�	��� 
� ���� ��
� �� �	��� l �
�	 ��
�� �� �	�� � �	� �	����
���	�� �	4�	���

�	 �	�� �	��	 ��� ������ 	�
��� 	
����� ��		� /01�

/221 �� �
��
 w ��� ���	��� L� 3	� A[j] = {j · w, j · w +
1, . . . , (j+1)·w−1} �	���	 �
	 j��
 ����	�� ������ �	 �����	
�
�� ���� 
� �
	 ���	 ����	�� ����� ��	 ����	��	� �� �
	 ���	

�
�	� *��	�	�� 
� �
	� ��	 
� �
	 �
��	�	�� ������� ��	 �
�	

��
� 
� �	�	����� ��� 	��
 �� �
	 ������� !���� �
�
����� �� �
	

 ''� p �
�	��� ��	 ����
�
��	� 
��� ����� ��� �
	 �	����

� ���	��	� �� ����� 
� �����

�
���	 5 �
��� 	�����	� �� �	���� ���	�� �� �
	  ''

��� �
	 �''� �	 �����	 �
�� 	��
 �	���� ���	�� �	4�	�� 
�

�����	�	� �
	� 
� �	��
	� �
	 ���� �
�	�
�	 ����	� "�� �����

W (0) ��� W (1) ���	�� �� 〈7, 5, 15, 0〉 ��� 〈10, 11, 12, 9〉�
�	��	��
�	��� &� �
	  ''� �	���� ���	�� �	4�	��� �� W (0)
��	 �	�����	� 
��� ��� �
�	�
�	 ����	�� �	����	 ����	��	� 6

��� 27 ��	 
� �
	 ���	 ���- B(3)� "
��	 �� W (1) �����
	�
2 ����	� �	����	 ��� �	4�	��� ��	 
� �
��
��� ���-�� "
��� �
	

�	���� �	4�	��� ������ �
�		 ����	�� 
� ��-	� 3 + 4 − 1 = 6
�
�	 ��
�� �� �����	�	 �
	 �	���� ���	��� &� �
	 �''�

�	���� ���	�� �	4�	��� �� W (0) ��	 �	��
�	� ��� �
�		

����	�� ������� *	��	 �
	 �	���� �	4�	��� ������ �
�		

����	�� %
�
����� �
��	 �� W (1) ������ ��� ����	�� *	��	� 
�
��-	� 5+6−1 = 10 �
�	 ��
�� �� �����	�	 �
	 �	���� ���	���
8��	 �
��� �
	 ���

�	����	 �� �
�	�
�	 �	�
��	�� 
��������	� 
�

�
���	 5 ��	 
���
����� ��� 
� 
� ��	� ���� ��� 	������
��

�
	 ������
�� �
�	� "
	 ������ ���

�	����	 �
���� 
�����	�

� ����
����	 
��	�����	��
�� �	����- /291� /5:1 �� ����
��

�	����- /521� /551� �� ����	 �	���� ���	�� �	4�	����

�
������ �	 �	��	 ��� ����
�����
� 	�
��� 	
�����
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	 ��� ��� �	� ��� ���

������ ��� ��� ��	
�
�
 �
 d ���
 �	� � 
�	��� ���
�
 ����
������ �	 ������ �� ���� ��� ��
 w ������ ��	�


�	� ��� ��� ��
� ��
 w ������ ��	�
� �� ���� ��� ����

��� ��	�
 �
 ���� ��� ��� ��	
�� ���

� �	� ���
� �


��� ��� ��� ��
�	� ���

�� ��� ���
  ��� �	 !��������

������
 ��� !�������	�� �	��  ��!
 �
 w ������
" �	� ����  ��!
��� ��
!������ 
�� ��� ������ ����

 
�� ��� 
����� ������

�	 ���	� �������" ����  ��! �
 w ������
 �	 ��� ���
 ��	


�	� ������ ����

 ��#��
�
 �� ��� ������ ������� ������ �

����
�����
 ��� ������������ �
 ��� ���  ��� d = 3 ���

�	� w = 4� ���� ��� �	� ��� ��� ��
 w = 4 ������
��	�
� ��� 
����� ������ �
 ���� ��� �	� ��� ������

������ �
 ��� ��� �����
!�	� �� $��� 
����� ������% �


���� 
������	� �����!����

�� �	� $��� ������ ������% �


&�����	����� '(�
� ��
�" �� ����
 
�	
� �� �

��� ����

��� 
����� ������ �	 ���� ��� ��	 
���� �! �� O(w2)
 ���
 �
 ����� &��� �	������'(�
 ��	 
���� 12w2  ���


�
 ���� �
 
���� 
� ��� ��!����� �
 ��� 
����� ������ �	 �


������	� �����!����

�� �
 &��� �	������'(�
 �
 �! ��

)*+����
 ,)-� .�	�� ��� 	����� �
 ������ ��	�
 �	� ���

	����� �
 ������
 �	 �  ��! �
 w = 32" �	 ����� �
 w2

/0���� �	�����
 ����!��
 )+ ����
� ���
" ��� 
����� ������

��		�� 
���� ���� ���	 �0 
��� �����
� ��
!��� ���
 
���"  �

��� �
� !�������� m �� ��	��� ��� ��!����� �
 ��� 
�����

������ �� 
�� ��
 �

��� 
�� ��� ���!������	�� !� ��� �� �
�

l �	� L �� ��	��� ��� ������ ����

 ����	���
 �
 ��� 
�����

������ �	 � ��� �	� ��� ������ ������ �
 ��� ����

��� ������ ����

 ����	�� �
 ��� ������ ������ �
 &����

�	����� '(�
 �
 
�1���� ��	���� ����� �����
"  ���� ���� �


��� 
����� ������ �
 � 
������	� �����!����

�� �
 
�1����

����� �����
 ,)-� ��	��" �� ����
 
�	
� �� �

��� ���� l � L�

��� ����� ��
���	��"  �  ��� �1������ ��� ���� 	���

���

�� ���!���� 
�	����	��� ������ ����

 �!������	
� .�!!�
�

���� p 2≥ w3 ������
 �	 p
w  ��!
 �	 � ��� �
 ��� ��� ����



n �����	�
 �	 ��� 
����� ������" n
p �����	�
 ���� �	 ���	�

4
 ��� ������ ����

 ��#��
�
 �� w ������
 �	 ���  ��!
 ���

��	5����
���" ��� 6�
� p �����	�
 ��	 �� ����

�� �	 p
w + l− 1

���� �	��
� .�	�� ���
 ������ ����

 �
 ��!����� n
p ����
" ��

����
 n
p · ( p

w + l − 1) = O( n
w + nl

p ) ���� �	��
 �� ����

 n
�����	�
� ��	��"  � ��1�"

����	 �� 4
 n ������ ����

 ��#��
�
 �� p 2≥ w3 ������

�	 � ���  ���  ���� w �	� ����	�� l ��� ��	5����
���" ���	
���� ��	 �� ���!����� �	 O( n

w + nl
p ) ���� �	��
�

.�!!�
� ���� ��� ��� ��
 d ���
  ��� p ������
 ����
�	� ���� 	��� �� ��!� n �����	�
 
����� �	 ��	
�����1�

�����

�
 �
 ��� ������ ������ �� ��� 
����� ������ �
 ���

���
 
��� ���� ���� 
����� ������ 
����
 n
d �����	�
� ����

�
 ��� dp ������
  ���
 
�� ��!��	� n
pd �����	�
� &������"

������ ����

 �� ��� ������ ������ �
 �����
��� �	� ���� ��

��� 
����� ������ �
 ��	5����
���� ��	��" ��� 6�
� pd �����	�

��	 �� ���� 
��� ��� ������ ������ �	 pd

w + L − 1 ����
�	��
� �
��� ����" ���� ��	 ��  �����	 �	 ��� 
����� ������

�	 p
w + l − 1 ���� �	��
� ���
" ��� 6�
� pd �����	�
 ��	 ��

��!��� �	 (pdw +L− 1)+ ( p
w + l− 1) = O(pdw +L) ���� �	��



��� l � L� .�	�� ���
 �!������	 �
 ��!����� n
pd ����
" ���

����� ��		�	� ���� �
 n
pd ·O(pdw +L) = O( n

w + nL
pd ) ���� �	��
�

��	��"  � ��1�"

����	 �� ��� ��
� �
 ��!��	� n �����	�
 �	 ��� ������

������ �� ��� 
����� ������ �
 d ���
  ��� p ������

���� ����
 O( n

w + nL
pd ) ���� �	��
 �
 ��� ����

&������" ��� ��
� �
 ��!��	� �	 ��� �!!�
��� ��������	" ���� �
"


��� ��� 
����� �������
 �� ��� ������ ������ ��	 �� ��	�

�	 ��� 
��� ���� �	��
�

�1�	 �
 n �����	�
 ��� 	�� �	 ��	
�����1� �����

�
 �
 ���
������ ������ �	� ���� ��� 
�!������ �	 
�1���� 
����	�
" ���

��
� �
 ��!� ��	 �� ��	� �	 ��� 
��� ���� �	��
� .�!!�
� ����

 � ��1� n �����	�
 �	 ��� ������ ������ �� �� ��!��� �	�� ���

����� �������
 �
 d ���
 
��� ���� ���� 
����� ������

����
 n

d �����	�
 ����� �� �

��� ���� n �����	�
 ���

!�������	�� �	�� �� ��
� n
w 
����	�
 ���� �
  ���� ��	
������

�����	�
 �	 ��	
�����1� �����

�
� ��� �7��!��" � 
�� �����7

�
 
�8� m ×m �	 � ����� 
�������7 �
 
�8� n × n 2m ≤ n3
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����������� 	� m ��
���	� �� m �
����	� ����� �� ���� 	��

��

����
 
�����

����� �� ��� 	��� �� ������
 n �
����	� ������	�� �� �	

���	 n
w ��
���	� �� 	�� 

���
 ������ 	� 	�� ������ ������

�� d ���� ��	� p 	������ ���� 	���� O( n
w + nL

pd ) 	��� ���	�
�� 	�� ����

��� 	� 	�� �	���
��	 ��
� 
���	�	���� �� ���	 	�� ����� ��

����� ��  
���� ��� !""# ��� 	�� ��	��
� ��� 	�� ������

$���
��
�� 	�� ���� �� 	�� ������	� �����	��� ��� �� ���� ��

	�� ���� 	��� ���	��

%%%� %���� �����	
���� �� �
� ���

��	 a �� �� ���
� �� ��&� n× n� ��� b �� � �����
 �� ��&�
(2v+1)× (2v+1)� ��� ���
� �����
�	��� �� 	� �����	� ��
���
� c = a⊗ b �� ��&� n× n ���� 	��	

c(i, j) =

v∑

s=−v

v∑

t=−v

a(i + s, j + t) · b(v + s, v + t).

'�� ����
���	�� �� ������ 	��	 a(i, j) = 0 �� (i, j) �� ��	 ��
���
�� %	 ����
� �� �
��� 	��	� 	�� ��
��� �� �

 c(i, j)� ��� ��
�����	�� �� O(n2v2) 	��� �� �� ������� ����

$������ 	��	 ���
� a �� ��&� m ×m ��� �����
 b �� ��&�
(2v + 1) × (2v + 1) ��� �	���� �� 	�� ������ ������ ��

	�� ���� �� (��	 ���� � ����

�
 ���
����	�	��� �� ���
�

�����
�	��� �� 	�� ��� ��	� p 	������� �� ���	�	��� ��	��	

���
� c ��	� n2

p 
����� �� p ��)�
� ���� �� � ���	�� ���� �����
�� c� %��
� c �� �����	�� 
���� �� 
���� �� 	���� �� �����

�

�������� � ����

�
 �

���	�� ��� 	�� ���� 	��	 p = n 	������

��� ����� *
���
�� ���� ��� �� c ����������� 	� � 
���� �� 	���
�� 	�� �����

!��������	 
��
����#

��� i← 0 	� n− 1do
��� j ← 0 	� n− 1 �� �� ����

�


T (j) �������� c(i, j)← 0
��� s← −v 	� v ��

��� t← −v 	� v ��

��+0 ≤ i+ s, j + t ≤ n− 1, 	���
T (j) �������� c(i, j)
← c(i, j) + a(i+ s, j + t) · b(v + s, v + t)

��� ������ ����
� ���� �� ���(��
	� 	� ���(�� 	��	 -

���	��

*./01��� ��� �� ����(�� 	� ������� 	�� ��
	��
���	���

���� p 	= n� %� p < n 	��� ���� ��� �� c �� �����	�� �� n
p

������� %� p > n 	��� p
n ���� �� c �� �����	�� �	 	�� ����

	����

��	 �� ���
��	� 	�� �����	��
 	��� �� -

���	�� *./01

���� '�� ���� ���� s ��� t� p 	������ ���� p �
����	� ��

c� p ��)�
� �� a ��� ��� �
����	 �� b� ��� ���	� p �
����	�

�� c� $���� 	���� ������ ������ �����	��� �� ���2��	1�����

	��� ��������� 	���� O( p
w + pl

p ) = O( p
w + l) 	��� ���	� ����

����� "� �� �����	� 	�� ��
�� �� p �
����	� �� c� 	���
�����	��� �� �����	�� (2v + 1)2 	����� ����� 	�� ��
�� �� p

�
����	� �� c ��� �� �����	�� �� O(v
2p
w + v2l) 	��� ���	��

'��	���� ����� 	��� ��������� �� �����	�� n2

p 	����� 	�� 	�	�


�����	��
 	��� �� n2

p · O(v
2p
w + v2l) = O(n

2v2

w + n2v2l
p )�

����� �� �����

����� �� -

���	�� *./01��� �����	�� 	�� �����
�1

	��� �� �� n×n ���
� ��� � �����
 �� ��&� (2v+1)×(2v+1)

�� O(n
2v2

w + n2v2l
p ) 	��� ���	� ����
 p 	������ �� 	�� ���

��	� ���	� w ��� 
�	���� l�

/�)	� �� ��

 ���� � ����

�
 �

���	�� ��� 	�� ����

$������ 	��	 	�� 

���
 ������ �� �	����
 �� ���
� a �� ��&�

n × n ��� �����
 b �� ��&� (2v + 1) × (2v + 1)� ��� 
��
 ��
	� �����	� ��	��	 ���
� c = a ⊗ b �� 	�� 

���
 �������

��	 d �� 	�� ������ �� ����
��
� ���� �� 	�� ���� ��

���	�	��� c ��	� s × s ������
�� �� ��&� w × w ����� �����

s = n
w � 3��� ��� �����	�� s2

d ������
�� ��� �� ���� ��	

c[i, j] +0 ≤ i, j ≤ s − 1, �� � ������
� �� i1	� ��� ��� j1	�
��
���� /�	� 	��	� 	� �����	� � ������
� �� ��&� w × w ��

c� � ������
� �� ��&� (w + 2v)× (w + 2v) �� a �� ����������

��	 a[i, j] �� � ������
� �� a ��������� 	� �����	� c[i, j]� -
��� �� ����
��� 	� c[i, j] �����	�� �	 �� ��

���4
!��������	 
��
���� ��� ����	��� c[i, j]#
���� �4 *��� a[i, j] ��� b ���� 	�� 

���
 ������ 	� 	��

������ ������

���� �4 *����	� c[i, j]← a[i, j]⊗ b ����
 -

���	�� *./01

���

���� �4 *��� c[i, j] ���� 	�� ������ ������ 	� 	�� 

���


������

-

���	�� *./01��� �����	�� 	�� ����
	��
 ���
� c ��

�)���	��
 	���� 	���� �	��� ��� ������
�� c[i, j] ��� �

 i ���
j +0 ≤ i, j ≤ s− 1, ����
 d �����

��	 �� ���
��	� 	�� 	�	�
 �����	��
 	��� �� -

���	��

*./01���� '���	� d ���� �����	� d ������
�� �� c ��

����

�
� $���� a[i, j] ��� (w+2v)2 ��)�
�� 	�	�

� d(w+2v)2

��)�
� ��� ������ ���� 	�� 

���
 ������ 	� 	�� ������

�������� �� d ���� �� $	�� "� '��� ����� � ��� v ≤ w�

	��� ���� �����	��� 	���� O(d(w+2v)2

w + d(w+2v)2L
dp ) = O(dw+

w2L
p ) 	��� ���	�� -�	�� 	��	� �����
 b �� ��&� (2v+1)×(2v+1)

�� ������ ���� 	�� 

���
 ������ 	� 	�� ������ �������

*
���
�� b �� ���

�� 	��� ������
� a[i, j]� �	 	���� �� ����

	��� O(dw + w2L
p ) 	��� ���	�� ������ $	�� " 	���� O(dw +

w2L
p ) 	��� ���	�� %� $	�� 5� ���� ��� �)���	�� -

���	��

*./01��� �� ����

�
� ����� 	���� O(w
2v2

w + w2v2l
p ) =

O(wv2 + w2v2l
p ) 	��� ���	� ���� ����� 6� -�	�� 	��	� ����

��� ������ c[i, j] �� ����

�
 �� $	�� �� $���� c[i, j] ��� w2

��)�
�� 	��� ���� �����	��� 	���� O(dw
2

w + dw2L
dp ) = O(dw +

w2L
p ) 	��� ���	� ���� ����� �� ����� d ���� �����	�� d

������
�� �� O(dw+w2L
p +wv2+w2v2l

p ) 	��� ���	�� $���� 	���

��������� �� �����	�� s2

d 	����� -

���	�� *./01��� ����
s2

d ·O(dw+w2L
p +wv2+w2v2l

p ) = O(n
2

w + n2L
dp + n2v2

wd + n2v2l
pd )�

����� �� �����

�	�
��� �� -

���	�� *./01��� ���� O(n
2

w + n2L
dp +

n2v2

wd + n2v2l
pd ) 	��� ���	� ����
 d ���� ��	� p 	������ ����

�� 	�� ��� ��	� ���	� w� 

���
 ������ 
�	���� L� ���
������ ������ 
�	���� l�
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��� ����� ����� �	 
��
� ��������
��

�� ��		 
��
� ��� �
����	��� �� �	������� ���������

���� �
������		�� �� ��		 ���� �� � 	��������!�� ��� ������

	�	�
� ���
��
�� ��	�������� ��� ������ 	�	�
� �������

��	�������� ��� ���
�
 	�	�
� ���
��
�� ��	�������� �!" ���

���
�
 	�	�
� ������� ��	������� �� ��
	���!� ����� ��!�


�	 ���! �! ��� ���� �	���	�� ���� �� ��� n2 
�#�	� �! ���

�	�$�	 ������ � �� $� �������" �� 	���� �!�� �!" �� ����

w 
�#�	� �! ��� �	�$�	 ������ ��! $� �������" �! � ����

 !��� ��!��� �� 	���� Ω(n
2

w ) ����  !��� ��� !�������� %���

������ 	�	�
� ���
��
�� ��	�������&� '�� ��� ��� ����		�

dp �����"� �!" ���� �����" ��! ��!" �� ���� �!� ������

������ ��( ��� �� ��� �	�$�	 ������ �! L ����  !���� ��!���

dp �����"� ��! ��!" �� ���� tdp ������ ������ ��( ���� �!

tL ����  !��� ��� �!� t� )�!�� n2 ������ ������ ��( ����

� �� $� "����!�" ��� ��� �	�$�	 ������� tdp ≥ n2 � �� $�

�������" �� ��!" n2 ������ ������ ��( ���� $� dp �����"��

'� �� tL ≥ Ω(n
2L
dp ) ����  !��� ��� !�������� %��� ������

	�	�
� ������� ��	�������&� *�� ����� ��!
�	 ���! �� !��"

�� ���
 �� a(i + s, j + t) · b(v + s, v + t) ��� n2v2 
���� ��

a(i + s, j + t) �!" b(v + s, v + t)� '���� �	���!�� � �� $�

���" ���� ��� �	�$�	 ������ �� ��� �����" ������� )�!�� ���

��� ��� d �����" �������� �!" �!� �	�$�	 ������ ����

w ������ $�!+� ����� �� ���� (d + 1)w �	���!�� ��! $�

���" �� ��� ���� ����� '� �� �� 	���� n2v2

(d+1)w = Ω(n
2v2

dw ) ����

 !��� ��� !�������� %��� ���
�
 	�	�
� ���
��
�� ��	�������&�

�	��� ���� �� ��� dp �����"� �! ��� ��� ��! ��!" �� ����

�!� ������ ������ ��( ��� �� � �����" ������ �! l ����  !���

�� �� ��� �	�$�	 ������ �! L ����  !���� )�!�� n2v2 ������

������ ��( ���� � �� $� ��!� �� ��� �����" �������� �� ���

�	�$�	 ������ �!" l � L� �� 	���� Ω(n
2v2l
dp ) ����  !��� ���

!�������� %��� ���
�
 	�	�
� ������� ��	�������&� '� �� ��

��
��

����
�	 �� �!� 
���		�	 ��
	���!�����! �� ����� ��!
��

	 ���! �! ��� ��� ���� d ,��� ���� p �����"� ����� ��"��

w� �	�$�	 ������ 	���!�� L� �!" �����" ������ 	���!�� l�
��+�� �� 	���� Ω(n

2

w + n2L
dp + n2v2

wd + n2v2l
pd ) ����  !����

*��� '������ -� �	������� �������� ����! ��� '����

��� . �� ���� �
����	�

�� ���� ��� ��!"����!� �� ��"� ��� ������ ������ 	���!���

'�� �	�$�	 ������ $�!"��"�� ��"�� ��� �	�$�	 ������

	���!�� �� n2

w ≥ n2L
dp � ���� ��� wL ≤ dp �� �������"� )�����	�

�
��+�!�� ��� ��!"����! � �� $� wL = O(dp)� $��� �� ���

���
 ��!� ���� �� �
�	 ���"  ��!� $���� !������!� ����
���

�� �
��" ��!� ���!� �� ���
	� ����� wL ≤ dp� /���		 ����
��� �	�$�	 ������ �� ��!!����" �� L������ 
�
�	�!� ���� ����

����� ��
�!� w ���������� ��!��� ������ ������ ��( ���� ���

( � �" �! wL 
�
�	�!� ���������� �	��� �� ���� �!� ������

������ ��( ��� $� ���� �� dp �����"� �! ��� ��� ��! $�

( � �"� ��!��� �� �� 
����$	� �� �		 
�
�	�!� ��������� ����

������ ������ ��( ���� �!	� �� wL ≤ dp �� �������"� '��

�����" ������ $�!"��"�� ��"�� ��� �����" ������ 	���!�� ��
n2v2

wd ≥ n2v2l
pd � ���� ��� wl ≤ p� /���		 ���� ��� �����" ������

�! ���� ,�� �� ��!!����" �� l������ 
�
�	�!� ���� ���� �����

��
�!� w ���������� �� ���� �!� ������ ������ ��( ��� $�

���� �� p �����"� �! � ,��� �!" ������ ��( ���� ��� ( � �"

�! wl 
�
�	�!� ���������� ��!��� �� �� 
����$	� �� �		 
�
�	�!�

��������� ���� ������ ������ ��( ���� �� wl ≤ p �� �������"�

) 

��� ���� $��� wL ≤ dp �!" wl ≤ p ��� �������"� �� ����

�� ��� ����� �	������� �������� � !� O(n
2

w + n2v2

wd ) ����

 !���� �!� ���
�	�� O(n
2

w ) �!" O(n
2v2

wd ) ������
�!" �� ��� �	�$�	

������ ������ �!" ��� �����" ������ ������� ���
����
�	�� ��
n2

w ≥ n2v2

wd � ���� �� v2 ≤ d� ��� ���� ��� �	�$�	 ������ ������

"���!���� ���� ��� ��� �����" ������ ������� ��!��� �� ��!

���!+ ���� ������ 	�	�
� ������ ��
������� �! �	�������

�������� �� ��#���0�" �� v2 ≤ d� $��� �� �	�������

�������� � !� O(n
2

w ) ����  !���� �! ��� ����� ��!"� ��

v2 > d� �	������� �������� � !� O(n
2v2

wd )� /���		 ����
��( �!���	 �	������� ��� ����� ��!
�	 ���! � !� �! O(n2v2)
����� �	��� w �����"� �! � ���
 � � �� p �����"� �! � ,��

���+ �! ���� ����  !��� �!" �� � wd �����"� �! ��� ��� ���+

�! 
���		�	� ��!��� ��� ����	������! ����� ��! $�  
 �� wd� �!"
��� � !!�!� ���� �� O(n

2v2

wd ) �����!� �
����	 �
��"� 
� '� ��

�� ��! ��� ���� ��
�������	 �� ��#���0�" �� v2 > d�

�� ����
� ����
��
���
�� �� ��� ���

�! ���� ������!� �� ���� ���� �	������� �1��,�� ����

���
 ��� ��� 
��" �� �� ��� �������� �! ��� ,��� ����� �����

�� 
����!� �	������� �1����� ���� ���
 ��� ��� 
��" ��

�� ��� �������� �! ��� ����

���  � ����� ���� ��� ���
 �����! �� ��� 
��" �� �� ���

�������� a �!" b �� ��0� n × n %n ≥ w& ���� �����" �! ���

�����" ������ �� � ,��� '�� ���	 �� �� ���
 �� � �����#

c �� ��� ���� ��0� � �� ���� c = a× b� �! ����� ���"��

c(i, j) =
m−1∑

k=0

a(i, k) · b(k, j)

�� ���
 ��" ��� �		 i �!" j %0 ≤ i, j ≤ n− 1&
) 

��� p %w ≤ p ≤ n2& �����"� ���  ��" ��� ���
 ��!� ���


��" ��� *�� ���
	������ �� ��� �� ���� n �!" p ��� � 	��
	��

�� w� �!" n2 �� � � 	��
	� �� p� �� 
�������! � �
 � �����# c
�!�� n2

p ��� 
� �� p �	���!�� ���� �! � ������ ���! ��"�� ��

c� � �
 � �����# c �� ���
 ��" ��� 
 $� ��� 
 �! � �!� ��

�����		� "�����$� � 
���		�	 �	������� ��� ��� ���� ���� p = n�
�	���	�� ���� ��� �� c ������
�!"� �� � ��� 
 �� ���� �� ���

�����

2��������	 
��
�

3

��� i← 0 �� n− 1 "�

��� j ← 0 �� n− 1 "� �! 
���		�	

T (j) 
������� c(i, j)← 0
��� k ← 0 �� n− 1 "�

T (j) 
������� c(i, j)← c(i, j) + a(i, k) · b(k, j)
'�� ���"�� ��� 	" ��
� !� "���� 	�� �� ��"��� �	�������

�1��,�� �� ���
 �� ��� 
��" �� ���! p 	= n� �� p < n
���! ���� ��� �� c �� ���
 ��" �! n

p �� !"�� �� p > n ���! p
n

���� �� c �� ���
 ��" �� ��� ���� �����

���  � �
�	 ��� ��� ���
 ��!� ����� *�� ���� 
�	 � �� k� p
�����"� ���" p �	���!�� �! c� max( pn , 1) �	���!�� �! a �!" p
�	���!� �! b� �!" ����� p �	���!�� �! c� )�!�� ����� ������
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������ ������	�
 	� ��
�	���
���� ��	� ��������� ����� O( p
w + l)

�	�� �
	�� 
��� ����� �� �� ������� ��� ����� �
 p �����
��
	
 c� ��	� ������	�
 	� �������� n �	���� ����� ��� ����� �
 p
�����
�� 	
 c ��
 �� �������� 	
 O(npw +nl) �	�� �
	��� �	
��

��	� ��������� 	� �������� n2

p �	���� ��� ����� ������	
� �	��

	� n2

p ·O(npw +nl) = O(n
3

w + n3l
p ) �	�� �
	��� ����� �� �����

����� �� �����	��� � ��!�� �������� ��� ������� �


��� ����	��� �
 �	"� n × n ���� 	
 O(n
3

w + n3l
p ) �	�� �
	��

��	
� p ������� �
 ��� !�� �	�� �	��� w �
� ����
�# l�

$�%�� �� �	�� ���� �
 �����	��� 
�� ����	% ����	��	���	�


�
 ��� &��� '� ������ ���� ��� ����	��� a �
� b �
 �	"�
n × n (n ≥ w) ���� ��� ������ 	
 ��� ������ �����# �

��� &��� ��� ���� 	� �� ����� ��� ������� �
 a �
� b 	

����	% c �
 ��� ������ �����#� ��� m �� � ��������� ����

���� w ≤ m ≤ n �
� ��� s = n
m � '� ����	�	�
 ����	% c 	
�� s2

�������	��� �
 �	"�m×m ����� ��� d (≤ s2) �� ��� 
����� �

!��� 	
 ��� &��� *��� !�� 	� ���	�
�� s2

d �������	���

�
 c� �
� 	� �����
�	��� 
�� ������	
� ��� ������	
� ������ �

����� ��� a[i, j]� b[i, j]� �
� c[i, j] (0 ≤ i, j ≤ s − 1) ��
���
�������	��� �
 �	"� m×m 	
 i��� ��� �
� j��� �����
 �
 a�
b� �
� c� �������	���#� +�����#� c[i, j] ��
 �� �������� �#

c[i, j] =

s−1∑

k=0

a[i, k]× b[k, j],

����� a[i, k] × b[k, j] ��
���� ��� ������� �
 ��� ����	����
����� � !�� ���	�
�� �� c[i, j] ��
 ������� c[i, j] �� 
������,

-��������	 
��
�

 ��� c[i, j].

�� k ← 0 �� s− 1
+��# a[i, k] �
� b[k, j] 
��� ��� ������ �����# ��

��� ������ �����#

+������ c[i, j]← c[i, j] + a[i, k]× b[k, j] �#
�����	��� � ��!��

+��# c[i, j] 
��� ��� ������ �����# �� ��� ������ �����#

'� ������ ���� c[i, j] 	
 ��� ������ �����# 	� 	
	�	��	"�� �#
"���� �	
�� c[i, j] ������

∑s−1
k=0 a[i, k]×b[k, j] ���
 �����	���

� ��&�� ����	
����� ��� ������� �
 ��� ����	��� 	� ����

����� ��������#� �	
�� ��� &�� ��� d !���� d c[i, j]� ��
 ��
�������� 	
 ��������� �
� ��	� �������� ��������	�
 	� ��������
s2

d �	����

��� �� �������� ��� ������	
� �	��� /	���� d !��� ���# d
�������	��� �
 a �
� b� �������	���#� 
��� ��� ������ �����#

�� ��� ������ �����#� �	
�� ���� �������	% ��� m2 �����
���

��	� ���# ������	�
 ��
 �� ��
� 	
 O(dm
2

w + dm2L
pd ) =

O(dm
2

w + m2L
p ) �	�� �
	�� 
��� ����� 0� �
��� ����� �����

�	��� � ��!�� 	� �%������ �# d !��� 	
 ��������� ��	�
����	% ����	��	���	�
 ����� O(m

3

w + m3l
p ) �	�� �
	�� 
���

����� 1� ����� ���# �
� ����	% ����	��	���	�
 ������	�
�

��� �������� s �	���� c[i, j] ��
 �� �������� 	
 s · O(dm
2

w +
m2L
p + m3

w + m3l
p ) �	�� �
	��� /	
���#� d c[i, j]� ��� ���	��

�� ��� ������ �����# 	
 O(dm
2

w + m2L
p ) �	�� �
	��� &�
��� d

!��� �������� d �������	��� 	
 s·O(dm
2

w +m2L
p +m3

w +m3l
p )

�	�� �
	��� �	
�� ��� &�� �������� s2 �������	���� ��� �����

������	
� �	�� 	� s2

d · s · O(dm
2

w + m2L
p + m3

w + m3l
p ) =

O( n3

mw + n3L
mdp + n3

dw + n3l
dp )� ����� �� �����

���	
�� �� �����	��� � ��&�� �������� ��� ��������

�
 ��� ����	��� �
 �	"� m×m (w ≤ m ≤ n) ���� 	
 O( n3

mw +
n3L
mdp + n3

dw + n3l
dp ) �	�� �
	�� ��	
� d (≤ n2

m2 ) !��� �	�� p
(≥ w) ������� ���� �
 ��� &���	�� �	��� w� ������ �����#
����
�# L �
� ������ �����# ����
�# l�
$��� ����� 	
 �����	��� � ��&��� ��� ������ �����# �


���� !�� ���� ����� O(m2) �����
���

23� ����� ����� �	 
���
� 
���
��
���
��

��� �� �	����� ��� ����� ���
� 
�� ������� 4� '� 5��� ����

����� �� ����� Ω(n
2

m ) ���� ������	�
� �� ��� ������ �����# ���

�������# 	
 ��� �����	�# �
 ���� ������ �����# 	� O(m2)� '�
��
 ������ ���� ���� �����
� 	
 c 	� �������� 	
 �
� �
 ���
!��� �
� �������� ��� 
����� �
 �����# ������ ����	
�� 
��

��� ������ �����#6 	� ��# �� ����	��� ���� ��� �� ���� !���

�������� � ����	����� �����
� �
 c ����	���#� �
� ��� ������	
�
������ ��� ����	
��� &������� ���� ��������	�� ��������	�


���� 
�� �������� ��� ����� 
����� �
 ���� ������	�
� �� ���

������ �����# 
�������# �� ������� � ����	����� �����
��

3� ������ �� ����� ����� �� ������� ���� �����
� c(i, j)� ���
!�� ������	
� c(i, j) ���� ���� n �����
�� 	
 ��� i��� ���
�
 a �
� ����� 	
 j��� �����
 �
 b� &�
��� ��� !�� ���� ����

2n �����
��� �	
�� ��� ������ �����# �
 ��� !�� ��
 �����

O(m2) �����
��� 	� ��
 ������� �� ���� O(m2) �����
�� 	
 c
�� ��� ���� �	��� �	
�� �� ��� �	��7 
����	�
 �
� 	�
��� ���

��
���
� 
������ �� ��
 ������ ���� !�� ��
 ������� �� ����

m2 �����
�� �
 c �� ��� ���� �	��� ������� ����� � !�� ����

���� α ���� �
 a �
� β ���� �
 b �� ������� m2 �����
��

�
 c� +�����#� m2 ≤ αβ ���� �� ���	�5��� �	
�� ��� !��

����� nα+nβ �����
�� 	
 ��� ������ �����#� α+β ���� ��
�	
	�	"��� /��� α+β ≥ 2

√
αβ ≥ 2m� �� ���� α = β = m

�� �	
	�	"� α + β� 3
 � !�� �������� � �������	% �
 �	"�

m × m� α = β = m 	� ���	�5��� &�
��� �����	��� � ��

&�� ���
���� ��� �	
	��� �����# ���� ������	�
� �� ���

������ �����#� ����� �� ������� s2 �������	%� s2 · 2n = 2n3

m
�����
�� 	
 ��� ������ �����# ���� �� ����� �	
�� �� ����

w �����
�� ��
 �� ���� 
��� ��� ������ �����# 	
 � �	��

�
	�� �� ����� Ω( n3

mw ) �	�� �
	�� ��� 
�������# (��� 
�	���

���	
� ��������� ��������	�)� /������� ��� &�� ��� ������#

pd �������� �
� ���� ������ ��
 ��
� �
� �����# ������

��8���� �� ��� ������ �����# 	
 L �	�� �
	��� &�
��� �� ����
2n3

m �����
�� 	
 ��� ������ �����#� �� ����� Ω( n3L
mpd) �	�� �
	��

��� 
�������# (��� 
�	��� ���	
� ������� ��������	�)�

$�%�� ��� �� �	����� ��� �	�	���	�
 �
 ������ �����# �������

�� �� ���� �	�������� �� ���� (d+1)w �����
�� 	
 d ������
�����# �
� �
� ������ �����# ��
 �� ����� �	
�� �� ����� n3

���� ������	�
� �� a (�� b) ���� �� ���
����� �� ������� c�
�� ����� n3

(d+1)w = Ω( n3

dw ) �	�� �
	�� ��� 
�������# (��� ���
��

���	
� ��������� ��������	�)� /������� ���� �
 ��� dp �������
	
 ��� &�� ��
 ��
� �� ���� �
� �����# ������ ��8���� ��

� ������ �����# 	
 l �	�� �
	�� �� �� ��� ������ �����# 	
 L
�	�� �
	��� �	
�� n3 �����# ������ ��8����� ���� �� ��
� ��

��� ������ �����	�� �� ��� ������ �����# �
� l� L� �� �����
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Ω(n
3l
dp ) ���� ����� �	� ��
����	� ���� ������ ���	�
 �����



��������	�
� ����� �� �����

���	��� �� ��� ��	����� �������������� �� ��	�������	��	�

���	�� ��������
����� ����� d ���� ���� p ��	���� ��
� ��

��� ��� ���� ����� w� ������ ����	� �����
� L� ��� ���	��
����	� �����
� l� �� �� �� ����� Ω( n3

mw + n3L
mdp + n3

dw + n3l
dp )

���� ������

���
�� ����	���� �!"#��� ��	 ����	�� $ �� ���� ��������

%��� ����� ����	�� & �� ��� ��� ����	 ����� ��	 ���	��

��������
������ '� (��� ����� ��� ����	 ����� ��	 ����������#

����� �� ��� O(n3)#���� ��	�������	��	� ���	�� ��������
�����

����	����� '� �� ����# ���� ���� ��� �	���
� �� ��� ���	�
��

�� ��)� n × n 
�� �� 
������� �� ���� ���� o(n3) ���� ��

*�	�����+� ����	���� ,-./� ,-0/� ,-1/� ���
�� �� �� �������� ����

���	�� ��������
����� 
�� �� 
������� �����	 ���� ��� ����	

����� ����� �� ����	�� &� �� ��� *�	�����+� ����	���� ��

����������� �� ��� ���� ������	� *�	�����+� ����	���� ��


�����
���� ��� ��� � ��	�� 
������� ��
��	 �� ��� 
��������

����� ��� �� �� ��� �	�
��
���� �����

*�����	�� �� ����� 
����������� �� ���
��� ��� 
���������

��	 ������ ����	� �

��� �����
�� �� ���� ��� ������ ����	�

�����
�� n3

mw ≥ n3L
mdp � ���� ��� wL ≤ dp ���� �� �����2���

*�����	��� �� ���� ��� ���	�� ����	� �����
�� n3

dw ≥ n3l
dp ����

��� wl ≤ p ���� �� �����2��� %��� ���� ����� 
��������� �	�

��� ���� �� ����� ��	 ����� 
�����������

'� ���� wL ≤ dp ��� wl ≤ p �	� �����2��� ����	���� �!"#

��� 	��� O( n3

mw + n3

dw ) ���� ������ '����������� O( n3

mw ) ���

O( n3

dw ) 
�		������ �� ��� ������ ����	� �

��� ��� ��� ���	��

����	� �

���� 	����
������� '� n3

mw ≥ n3

dw � ���� �� m ≤ d� ���
���� ��	 ������ ����	� �

��� ��������� ���� ��	 ��� ���	��

����	� �

���� ���
�� �� 
�� ���� ���� ��� ��	��� ���	�


�

��� ���	������ �� ����	���� �!"#��� �� ������)�� ��

m ≤ d� ��
���� ����	���� �!"#��� 	��� O( n3

mw ) ����

������ 3� ��� ����	 ����� �� m > d� ����	���� �!"#���

	��� O( n3

dw )� 4�
��� ���� ��5������� ����	���� 	��� �� O(n3)
����� ����� w ��	���� �� � ��	� ��� �� p ��	���� �� � ���

��	 �� ��
� ���� ���� ��� ���� wd ��	���� ��	 �� ��	������

���
�� ��� �

���	����� 	���� 
�� �� �� �� wd� ��� ��� 	������

���� �� O( n3

dw ) ������� ������� �����#��� ����� �� 
�� ��� ����

��� ����������� �� ������)�� �� m > d�

6''� 7���������	
 ����
��

8� ���� ����������� ��	 ����� 
���������� ��� ���	��

��������
����� ����� 9!�� 9� ��� ��������� ��� ��	��	���
�

�� :�;�	
� :�< �'��%� �� ����	���� ��	 � ��� ��

����������� �� � 9!�� ���
 � ���
�� ��	 ��������������

���� �� d 9!�� ���
 � �� ��������� �� ����	���� �� ���

��� ���� d �����

;���	� . ����� ��� 
�������� ���� �� ����� 
���������� ��

� 1024×1024 ����� ���� 	����
� �� � 7×7  �	���� 7�
� �����

�� � 0#���� =��� �����	� ;	�� ��� ������ ��� 
�������� ����

�� ������ ��� ���� ��	 p = 512 ��� p = 1024 ���� d ≥ 32�
���
�� �� 
�� ���� ���� ��� ������ ����	� �

��� �����
�

�� ������ ���� p = 512 ��� d ≥ 32� ���	���	�� ��� �����	

d �� 9!�� ���
 � ���� �� �� ����� .- ��� ��� �����	 p

���

�

��

���

� � � � �� �� �� ��� �	� 	�� ����

p = 32
p = 64

p = 128
p = 256
p = 512

p = 1024

d
 ��
 ����
� �� ���� ������

���
��� 

p
��
 ����
� �� ���
!"�#���� �����


��� �� ��� ������� ���� ��� ����� ����������� ���� v = 3

���

�

��

���

� � � � �� �� �� ��� �	� 	�� ����

v = 1
v = 2
v = 3
v = 4
v = 5
v = 6
v = 7

d
 ��
 ����
� �� ���� ������

���
��� 

(2v + 1) × (2v + 1)
 $��
� ��%



���  � ��� ������� ���� ��� ����� ����������� ���� p = 1024

�� ��	���� ��	 9!�� ���
 ���� �� �� ����� 1>- �� ������)�

��� ��	��	���
�� ;���	� 0 ����� ��� 
�������� ���� �� �����


���������� ���� p = 1024� 9���	��� ��� 
�������� ���� ��

�����	 ��	 ��	��	 v� ;�	 ��
� ����� �� v� ��� 
�������� ���� ��

������ ��� ���� ���� d ≥ 64� ���� �� ��
���� ��� ��	������

������	�
����	� �� ��� :?! ���
��� 9!�� ���
 � �� ��	�� ��

d �� ��	���

;���	� 1 ����� ��� 
�������� ���� ��	 ���	�� ��������
�#

���� �� ��� 1024 × 1024 =��� ���	�
��� *�����	�� �� �����


����������� �� 
�� ��� ���� ��� 
�������� ���� �� ������ ���

���� ��	 p = 256, 512 ��� 1024 ���� d ≥ 32� ��
���� ���

������ ����	� �

��� �����
� �� ������� ;���	� @ ����� ���


�������� ���� ���� p = 1024� *��
� ��� ��)� �� ���	�� ��

1024× 1024� ��� �����	 �� ������	�� �� -1@ ���� m = 64�
���
�� ��� 
�������� ���� �� ��������� ���� ��	 d ≤ 256
9!�� ���
 �� 8� 
�� ��� ���� ��� 
�������� ���� �� ���	��	

��	 ��	��	 m� ������	� ��� 
�������� ��	 m = 32 �� ���

�� �����	��� �	�� ���� ��	 m = 64� ��
���� ��� ��)� ��
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���

����

� � � � �� �� �� ��� ��� ��� ����

p = 32
p = 64

p = 128
p = 256
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